Z A—1700 SERIES
oA O3 2=

O1IAl OHII
—/ O OO —

A-1712(120W) / A-1724 (240W)

[t XTSI 9F
XZE9| PA EFME IS0l

Y 9% N5 SME 4T



W ESH 3M0] 1148

MIC &/AUX 2
. ' .

A-1712(120W) A-1724(240W)

— PN

= 5K
© Mol ©=—

ndse| Ui HME mYUIZ A-1700 Series= CHEXH X PA ALE0]
Of&xeiLIct £3] oflti 49 0|g =1f 22 ZE| OlO|Z2E PA
2A2US SFs}7| sl 12HEl A-1700 Series OO|Z2E

U Ho= EHEst 715 ¥ oiL2t 232 RAde 2WE RE
XH[E2] Euxel PA £RMQL|C

MASTER
Wl

. .
. .l__

POWER

ZONE 2

f O
= oFF

Bl TOA Pa AMPUIFIER model A-1724

E_|-°I-‘3 OI*E;II '|

3709 Ex UBEX| Qo CiYst Oto|3 YA X7t 1 EXQ

W A-1700 SeriesE 27X é, [t MHH|E 21 U0 SHEo||

w2t Mefst 4~ QUGLICE OIF AXl= PHO| Holst YA X| PtE

S8%92l 9lMo| 7tsEuct EE} W2 EX AL LS F2,

00|32 UBEX| 52 62 Hateh 2lold UAXZE +88 4+ JUsL O

AUX 1/MIC 5

FHANTOM

AUKZMICS | AUXIMICS [ e ThE e THIG 4 | MIC 3 | WIG 2 [ MIG 1
SW1 SW2 SW3 | 5W4 | SW5 | SWEB | SWT | 5Wa
L OFF MIC & MICS OFF | OFF | OFF | OFF | OFF | OFF
— Ol AUX 2 AUX 1 ON Oh ON ON ON O
MIC 4 MIC 3 MIC 2 MIC 1



2

Typical Connections

Column speaker

Horn speaker

Box speakers

4 AMPLIFIER

000! A-1706

T AATED 60W
A Corporation

s | i e N

220230V e

JLE ]

o
ooooo QO
ooooo QO

Cassette tape recorder
= (for REC)

eedel Equalizer
( for tone control)

PHANTOM
ABC S | MeC 4 | WC 3 | MSC 2
SW4a | SWS | SWE | SWT
OFF | OFF | OFF | OFF
on | on [Ton | on

MIC2 MIC 1

ALENNICE | ALDTARCS

SW1 SWE
WICE MICS
AUK 2 ALK 1 on

Mica

OFF

v [

AUX 1MIC 5

)

Cassette tape
player

CD player el

(AUX 4) o

Cassette tape pI:;lé/er
(AU

7tX| Zone 7Is

Z12to| A-1700 Series Y0l = &5t PA OiE2|AH0|M =2
HZ MASHALE 8 AKE 4 U= 27H9] Speaker Output Zone=
21 QELCh
------------ All Zone-------------
Zone 1

Zone 2

=uEd— o
IHEdnto] XA
W A-1700 Series= HZAE EE microphonedf| HEIIIE 2

HHI = H20| w2t ARRIE HHLE

olo|3 22 2EXl= XLR comectorZt Y=
(Balanced Configuration)2
2|

o

2 4 yaud

1 ExoZ 5t Q
S

O[22}0|x[oIM

7t O pE £

HolA QL Eglg HEER

SN x32 ¥ 4 YsUd

SERuch

A2 ofl thstod
2409

Microphones

=
eIF717] A
mewg sAsksin 1ol olF2HOHOIS 7| ishAS izt 2
OFtoIN E= 1 g0l TIE FHIS TNIUT A0|X] Y 91O 2 |

g o+ AUsLIT Zest F2, SAYX|(Dday Uniet 22 OE 7|71 A
Z2Y += UASUCL ARRE BHE H5I7| flsiM J2|n TE ALFofl &

HE ZFot7] oM F7I2 2§t AR, Line Out Termind2S ALE5HH
Mix OuputE £ CIE OiAoZ 2 —1‘— UL o,

AEMOTE POWER

VOLUME REMOTE
e e

o
HAxo] 7Is
A-1700 Series Y= A H|O]
Mol S5t 24 2ExHut
27 o] on/off7t 7FsEtLct,

HZE =4
2 A-1700 Series ¥
ZSHEX|7} Qo] HL..LH

A-1724(240W)



Specifications

Power Source AC mains 50/60Hz

HHsH 240N 120N

A 532W (HZA ), 220W [EN6OGBS) 258W (A ZE3), 105W (EN6006S)

Frequency Response 50 - 20,000Hz (£3dB)

Disbortion TkHzOllA 2% Ol5t, 324 T2

Input MIC 1 - 6 -60dB*, 6000, electronically-kalanced, combined type of XLR-3-31 equivalent and phone jack

AUX 1- 2: -20dB*, 6000, electronically-balanced, combined type of XLR-3-31 equivalent and phone jack
(Either MIC 5 or AUX 1, and either MIC 6 or AUX 2 selectable)

AUX 3 - 4: 20dB* 1k Q, unbalanced, RCA pin jack

AUX 5: -20dB*, 10kQ, unbalanced, combined type of XLR-3-31 ecuivalent and phone jack

PWR AMP IN: 0dB* 6009, unbalanced, RCA pin jack
(020l E= LINE OUTZH PWR AMP IN EO|'d Ziofl ¢ 7ts8t 1 8| T2 Ala'E Z2AIM)

Output REC: 0dB*, 6000, unbalanced, RCA pin jack REC: 0dB*, 6000, unbalanced, RCA pin jack
LINE: 0dB*, 6009, unbalanced, RCA pin jack LINE: 0dB*, 6009, unbalanced, RCA pin jack
SFEAKER SELECTOR 2 zone, high impecance  SFEAKER SELECTOR' 2 zone, high impedance

(100V line/42Q), individual selector key, (100V line/83Q), individual selector key,
M4 screw terminal M4 screw terminal
DIRECT SPEAKER OUT: High impedance DIRECT SPEAKER OUT: High impedance
(100V line/42Q), (100V line/83Q),
M4 screw terminal M4 screw terminal
Low impedance Low impedance
(4-160Q), (4-16Q),
M4 screw terminal M4 screw terminal
(Low % High ulEA EOlE 2FE SAlols M8E 2 Si&Lch)
Phantom Power ONor OFF for each MIC 1 @ 6 with switch setting
SN raio Over 100dB (Master volume: min)

(Band Pass: 20 - 20,000Hz)  Over 76dB (Master volume: max)
Over 60dB (MIC 1 = MIC 4)
Over 53cB (MIC 5, 6)
Over 76dB (AUX 1 - AUX 5)

Tone Control Bass: £10dB at 100Hz, Treble: +10dB at 10kHz

Control Input REMOTE VOLUME: M3 screw terminal
POWER REMOTE: No-voltage make contact input, open voltage: 24V DC (x| Q| H20| KIS A),
short—circuit: under 10mA, M3 screw terminal
Indicator 5 point LED output level meter
Power indicator LED
Zone indicator LED

Operaing Temperature -10°C o +40°C
Finish Panel: ABS resin, black, hair line
Case: Steel plate, black
Dimensions 420 (W) x 1077 (H x 367 (D)mm
Weight 135kg 12 6kg
Accessory Power cord x 1

Terminal block cover x 1
Terminal block cover mounting screw x 2

Option Rack mounting bracket MB-25B
Volume control cover: YA-920

Note: &7| A3 Eotgel ui2|of 2t4: M3 = 7mm, M4 = 9mm

* 0B = 1V

Human society with
Sound & Communication

TOA Corporation
http://www.toa.jp/

2 A2 ol glo] HAE 4 UELICH

Printed in Korea




